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KRB EES (B FEH)

{22 B ) s B o 0

e 22 1l IR &R Bk FERE
e (B/5)

i fi 1 6-10 7.8-8.4 8.0 =
FHEE (mg) 100 <30 - 30 30 =
BiEE YR E  (mg/) 10 <2-2.0 2.0 =
Y 48 & (mg) 2,000 320 - 749 535 E
WAL 4EE (mg) 10 <0.5 <0.5 =
FLYHEE (mg)) 0.1 <0.04 <0.04 =
O ERREE (me/)) 100 <15- 16 15.5 =
HAE (me/D) 20 <10 <10 =
MeagE  (mg/)) 0.5 <0.3 <0.3 =
FEErEMEE (mg) 1 <0.6 <0.6 T
FHEMER (mg/) 15 <7 <7 pss
LEELSE (mg) 2,000 | 153-170 162 =
Ak E (mg/l) 200 <20-21 20.5 =
g (°0) 43 28 - 31 29 =
W EY)E (me/) # - - - -
EBEBE

fi - (mg/l) 2 <0.4 <0.4 =
#H (mg/l) 5 <1 <1 =
% (mg/) 0.1 <0.1 <0.1 =
#%  (mg/l) 1 <0.3 <0.3 =
#  (mg/) 2 <0.5 - 0.61 0.56 =
# (mg/l) 2 <1 <1 =
Bk (mg/l) 5 <0.2 <0.2 =
K (mg/) 0.05 <0.05 <0.05 E
$8  (mg/D) 2 <1 <1 =
R (mg/) 2 <0.4 <0.4 =
¥ (mg/l) 5 <1 <1 =
¥ (mg/l) 2 <1 <1 =
HEEEHEEH# (mg) 10 <7.0-72 7.1 =
B (mg/) 5 1.6-2.4 2.0 =
# (mg/) 10 <2 <2 =




e 22 1l PR SES 15 8 FERE
K (2/5)

BEE
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/l) 0.01 <0.01 <0.01 =
AR LN (mgl) 0.01 <0.01 <0.01 =
FEZEELEY
K (mg/) 0.1 <0.06 <0.06 =
EEEiaey -
1,1,1- = & Z % (mg/) 0.05 <0.025 <0.025 =
ZEBE
% & 05k 7 48 & (mg/D) 0.003 <0.003 <0.003 =
A Y B #

# MUREEETH LR YR B IRATECR (2018 4 12 H) » FE—fREIL T - BiF
VAR YR Z e ARy NI A B TR -

# HHECBEEERE M8 88 B B R B R
5B 2
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EEREEERBEE (ZE__FtH)
34 2 5 PR 7S GEERC EIHE | FERE
(FERr =)@ GB/IE)

() =ty EigE @

fékr (ke/0.5h) 0.58 0.00 - 0.02 0.00 =
—&EW (kg/0.5h) 3.86 0.02 — 1.59 0.16 =
BE % (ke/0.5h) 1.16 0.00 - 0.30 0.04 =

# b= (ke/0.5h) 0.08 0.00 -0.00 0.00 =
ALY

(M Z & 16 & 5t &) 7.71 0.48 - 3.20 1.66 =
(kg/0.5h)

HaH PR (ke/0.5h) 0.39 0.00 - 0.05 0.00 =

— &b B% (kg/0.5h) 1.93 0.00-1.13 0.08 yocs
(Z) H¥fE @

L (kg/day) 9.25 0.03-0.17 0.07 =
“ &AL (kg/day) 46.27 1.15 - 10.69 6.93 pss
EiBE (kg/day) 9.25 0.68 — 3.08 1.78 pss
#wAbE (kg/day) 0.93 0.00 - 0.00 0.00 pss
ALY

(M Z & 16 & 5t &) 185.06 38.08 - 87.77 73.45 =
(kg/day)

R (ke/day) 9.25 0.01-0.15 0.06 pss
— &AL (kg/day) 46.27 0.90 - 5.99 3.32 pss
() HAi

S8 2 i PR FE RS FaRE
(HEmex)® (/&)

= = AN

%ﬁ%%%%ggr%) (kemy | 09 009 &
BB ALEY

(MlAbtsEa &gt 5H) 0.73 <0.002 =
(kg/h)

B & (AR B 51 &) (ke/h) 1.45 0.331 pss
RO TR (ke/h) 0.21 <0.006 =
R EORALE (kg/h) 0.19 <0.002 =
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EESBE—EY:

EueB(E —BHNHEE -

(ke/h) 0.0019 < 0.0003 yea
EEESBEZE)Y:

i (kg/h) 0.0023 < 0.0001 yoa

FE4EG _HEs -

(ke/h) 0.019 < 0.0020 yea

7K (kg/h) 0.0019 < 0.0001 =

T IE I (ng/h) 2,891 120 v
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(6) f My 45 g DL 273K ~ 101.3 kPa ~ SE 2Rz BN HERBEE BT B A&
o MLUHREEE 11% HS2FEEEFERKIE -
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RRERZERBEBEYEBEBESESE (2 "FtH)
S8 P22 1l R & S S FIH 8 FaERE
(=/E)
F—#a
B g & (OK) (%1&8@@ 12.2-12.6 12.5 =
i8S 5 o EE (%) (%151(3)&'}2) 61 -85 75 yass
BB
#% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.02 - 0.054 0.021 =
A E (ppm) 10 <0.5 <0.5 =
#i  (ppm) <0.5-3.7 0.8
# (ppm) <0.5 <0.5
#i (ppm) <1-1.4 1.0
# (ppm) <0.5-2.1 0.60
i ;iﬁ(x;pﬁrf)‘ ) 25 <25-5.7 2.9 yiss
# (ppm) 20 <1-1.1 1.0 v
Wift¥ (ppm) 10 <5 <5 =
ZEE (ppm) 10 <2-25 2.0 =
1LY (ppm) 5 <5 <5 =
£ 8
g %fm? W= 5,000 <15 <15 yiss
HHNEREE 10 « <« =
(ppm)
i&p;b) E ST 5 < < =
% @A (ppm) 1 <1 <1 =
TCDD (ITEF %) =
(ppb) 1 <1 <1 =
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